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�����	 ��	����
�� pn ��$�$
'���$*�$ '��� ��	 #����
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0��	�� K �� ����� �	 �
�
����������	 ��B��	��	 �	 p ����	�
�� �	 #����	 μp �	�
�
���	� p����	� �	 �������� 	� J ⊆ K �� ���������� �	 K �	 ����	�
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�����	��	 ��� 
����	��	 �	 �	#�� p3$ ��
#����
���	 ��� �	 ������
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� �����	
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���� �� ���� � D = EV $

(	 �������	 �	 �����	����� �	 ������	� ���� �
 ������������ �	� p�	��	������
#
�����	��	� ��� ������ �
� [��� 8*?: 	� *AE9$ F�����
�� � ��	 ��	����� �	 0	��	 8A:�
F$ C
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 ��
��� 	� #����
� �� �������	 �	 ����#	�	�� � ��

� ������	 p �	�
p�	��	������ L������	��	�$ �� !	�� �
���	�
�� �������	 �	 ���	 �������	 ����
��	 p�	��	����� L/J � 	����	 
����	��	� �
�� ���� �	 ����� �	 �
�	 �	 �����	�� ����
�	��	 ���� �	� �
���	� p����	� �	 ������� " J ∩ μp = {1}$ /�	 ������	 �������	 � �����
�	� �� �	 �������	 ��
���
�� ���� (L (μp) /J (μp)) 
��	� �� ��� �	� ���������� ���� �
�	��	���	 ����	 ��	���	 	��	� �������	��	 	����	$ (	 �������	 * ��
������
�� � ��	��	��
���� �
���������	 (K = J (μp)) /J � �� �	 �
���	 
� �
� �� �	 #����	 Gal(L/J) 	��
��	����
�� p$ (	 �������	 ���!
�� ��������� 
���� 	�������	�	�� ��	 �������� ����
�������	 �	 ����#	�	�� ��� L������	� 	� �	��	� ����	 �������� �� �������	
��
���
��$
�������	 � ���� E/ (K = J (μp)) 	�� �%�����
��� .��������&	� ������
��� p ��
�
�	�� Γ := Gal(E/K)$ �	���
��
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��� E/J ��������� �� 
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����� �
������� �%�B�� �� ��	���� E μp =< ζp >�
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x ∈ E×/∀γ ∈ Γγ(x)

x
∈ E×p

}
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� V := Gal(E/L) ��	��&	� ���������� �� F ���
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∏
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L E
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� �����
�����$
 L$ �	���
��
 �� �
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 ��������
 �	  K$� 
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 J � �� ��
����	� descJ(E/K) = (L/J)� �� &	� �� ��
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 E
��������� �� �
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x ∈ Nor(K,E) ���
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N = E

((
gfE/L(x)

)1/p)
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�* gfE/L �
� �����
���	
 ���)�
��� ����� ��


gfE/L : E× −→ E×

x �−→ gfE/L(x) =
∏

v∈V
v−1(x)f(v).
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� f �
� ����
���� �� ����B
� 	��&	� ��
 �� ���������

v(x) ≡ xf(v) mod E×p(v ∈ V ).
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